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Which one of the following in the heart
accompanies the left anterior descending
artery ? '

{a) Great cardiac vein
{b} Middle cardiac vein
(¢) Small cardiac vein
(d) Coronary sinus

Which one of the following pairs is not
correctly matched ?

(a) Taste Special visceral
afferent

(b 8Smell General visceral
afferent

(¢} Hearing Special somatic
afferent

(d) Touch General somatice

" afferent

A posteriorly perforating ulcer in the pyloric

antrum of the stomach is most likely to
produce initial localised peritonitis or abscess
formation in the

(a) Greater sac
(b) Hepatorenal pouch
(¢} Omental bursa
{(d) Subphrenic spaces
During hysterectomy while clamping the
uterine artery, it is crucial to visualise which
wone of the following structures to avoid
injuring it ?
(a) Greater omentum
(b) Ureter
(¢} Left colic artery
- (d) Pampiniform venous plexus
At the time of ovulation in the human female,
the following are correct except .
(a) First meiotic division has just occurred

(b) Expulsion of first polar body has just
occurred

(¢} Fertilization is possible

(d) Zona pellucida has just broken down

(2 -A)

o o ¥ »

Match List I with List IT and select the correct
answer using the code given below the lists :

List I
(Purts of
internal capsule)

" List IT
(Fibre components)

Anterior limb - 1. Optic radiations
Genu 2. Frontopontine
Posterior limb 3. "Corticonuclear
Retrolentiform 4. Corticorubral
part

Code :
A _B C D

(a) 2 4 3 1

(b) 2 3 4 1

RORS! 4 '3 2
(d) 1 3 4 2

Which one of the following is the artery of
cerebral hemorrhage ?

(a) Middle meningeal artery

(b) Middle striate branch of middle cerebral
artery

(¢} Lateral striate
cerebral artery

branch of middle

{(d) Posterior cerebral artery

Which one of the following pairs is correctly
matched ? ‘

(a) Uncinate Association fibres

fasciculus

(b) Cingulum Projection fibres

(¢} Corpus Projection fibres
callosum A

(d) Internal Association fibres
capsule
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9. Which of the following surrounds the posterior
end of the superior temporal sulcus ?
. (a} Angular gyrus
(b) Supra marginal gyrus
(¢) Para central lobule
(d) Superior parietal lobule
10. Motor aphasia in an 86-year-old woman
occurs as a result of vascular compromise of
the
(a) Anterior cerebral artery
{b) Middle cercbral artery
(c) Superficial middle cerebral vein
(d) Posterior cerebral artery
11. The axons of the Purkinje cells in the
cerebellum terminate mainly on the
(a) Red nucleus
(b) Intra-cerebellar nuclei
(¢) Substantia nigra
(d) Inferior olivary nucleus
12,  Crush of optic chiasma in the midline causes
{a) Bitemporal hemianopsia
{b) Binasal hemianopsia
(c) Homonymous hemianopsia
(d) No visual impairment
13. Consider the following pairs :
Extra ocular muscle Action on eye-ball
1. Superior oblique Abducts and
depresses
2. Inferior oblique Abducts and
elevates .
3. Superior rectus Adducts and
clevates
Which of the pairs given above is/are correctly
matched ? ‘
(a) 1 only
(b) 1 and 2 only
(¢) 2 and 3 only
(d) 1,2 and 3
P-DTQ-J-NTD

14.

15.

16.

17.

{4 - A

A 33-year-old infotech employee complains of
severe pain over the side of the face while
eating food. What would sialogram show to
confirm the diagnosis ?

(a) Pleomorphic salivary adenoma
(b) Cellulitis of the face

(¢) Trigeminal neuralgia

(d) Calculus

Which one of the following is nof a
characteristic of melanocytes ?

(a) They are derived from neural crest.

(b) They are more numerous in persons of
darker skinned races than in those of
lighter skinned races.

{c) They have long,. irregulér cytoplasmic
processes that extend into the stratum
spongiosum.

(d} They are located in the basal stratum of
the epidermis.

From the cortical capillaries of the osteons
(Haversian system), osteocytes receive or
exchange nutrients and metabolites by means

of

(a) Cdnaliculi

(b) Central canals

(c) Diffusion through the bony matrix

(d) Volkmann's canal -

are correct
(Cecells) in

The following  statements
regarding parafollicular cells
thyroid except :*

(a) The secretion of cells depends on their
autonomic nerve supply.

‘(b} They are present singly or in groups.

{(c¢) They are found within the follicular
basement membrane.

(d) They are derivatives of neural crest.
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18. Lumbar vertebrac are charactensed by the
fol]owmg except :

(a) Deep inferior vertebral notches

(b) Articular surfaces that permit little
rotation

(¢) Short, broad, horizontal spinous process

(d) Greater thickness of body of vertebra
anteriorly than posteriorly to provide
the lumbar curvature

19. Development of lung is divisible into the
following stages :

1. Glandular stage

2.  Canalicular stage

3.  Alveolar stage

What is the correct chronological order of the

above 7

(a) 1,2,3

(b 1,3, 2

(e} 2,3,1

d 31,2

20. Consider the following statements with
reference to the epidermis of skin :

1.  Stratum basale contains melanocytes.

2.  Stratum granulosum contains
keratohyalin granules.

3. Stratum spinosum contains mature
keratinocytes. ]

Which of the statements given above are

correct ?

(a} 1,2 and 3

(b} 1 and 2 only

{(c} 2 and 3 only

(d) 1 and 3 only

21.  With reference to bilirubin metabolism, which
one of the following statements is not
correct ?

(a) ‘Biliverdin reductase’ is involved in

' bilirubin metabolism.

(b) ‘Glucuronyl transferase’ is involved in
bilirubin metabolism.

(c) Bilirubin is bound to globulin.

(d} Enterchepatic circulation of 20% of
urobilinogen helps in absorption of
foodstuffs.

P-DTQ-J-NTD

22,

23,

24,

25.

{6 - A)

In large nerve fibre, what is the typical action

" potential duration ?

(a} 003 milli sec

(b) 0-3 milli sec

() 3 milli sec

(d) 30 milli sec

The cause of the muscle weakness in

myasthenia gravis is due to
(a)
(b}

decrease in acetylcholine synthesis

formation of antibodies to acetylicholine
receptor proteins of neuromuscular
junction

{(c) formation of antibodies to muscarlmc
acetylcholine receptor

{(d)

formation of antibodies against calcium
channels

Extra-genital actions of estrogen mclude the
following except :

(a) Aldosterone-like action

(b) Osteoblastic activity on bone

(¢} Imhibition of erythropmetm secretion
from kidney

(d} Necessary for the  hypothalamic
feedback regulation of testosterone in
males

Which one of the following is nrot correct
regarding the potentials at sino-atrial node ?

(a)

The resting membrane potential 1is
lower than that in ventricles.

(b) Continuous diastolic depolarisation 1is
observed.

(¢) Opening of L-type of calcium channel
triggers spike potential,

Na* ion is not involved in the action
potential of SA node.

(d)
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The increase in cardiac output during exercise
is primarily due to which one of the following
mechanisms ?

(a) Increased heart rate due to sympathetic
stimulation

(b} The Frank — Starling mechanism
(¢) Decereasced total peripheral resistance
(dy Decreased preload
Which of the following is a characteristic
feature of type A nerve fibre ?
{a) Scnsory only )
(b) Slower conduction than C fibres
(¢) Myclinated
(d) Contains substance P
Which one of the following pairs is not
correctly matched ?
Cells Secretion

(a) Typell Surfactant
Pneumocytes

(b)Y Parietal cells Intrinsic

factor

(c) Scrtoli cells ~:  Inhibin

(d) Juxtaglomerular
cells *

Angiotensin

Which one of the following statements is
correct ?

Secretion  of H* in proximal convoluted
tubular cells is

(a) by a counter-transport of the substance
with Na* ions. .

(b) by an ATP driven proton pump.

~ (¢) facilitated by aldosterone,

(d) by H' — K* ATPase activity.

The following are associated with metabolic

alkalosis except :

(a) Ingestion of NH,CI

(b) Prolonged vomiting

(¢} Prolonged steroid therapy

(d) Diurectic therapy with
anhydrase inhibitors

" carbonic

P-DTQ-J-NTD

Which one of the following statements is
correct ?

(a) Bile salts once secreted in duodenum
have no further role in promoting bile
salt formation by liver.

(b) Bile salts tend to prevent forme;tion of
lipid deficit.

(¢} Cholecystokinin stimulates only
pancteatic secretion and has no effect
on gall bladder.

., 7 _

(d} Oral antibiotic therapy does not have
any effect on the intestinal microbial
flora.

Consider the following B-complex vitamans :

" 1. Pyridoxine

2. Niacin
3. Pantothenic acid

Which of the above participate in TCA cycle ?
(a) 1,2 and 3 '

{(b) 1and 2 only ) !
(¢) 2 and 3 only

(d) 1 and 3 only

Consider the following statements :

Enhancer elements are segments of DNA that

1. are required for transcription of certain
genes.

have no polarity ie. they can be
~ inverted. '

3. are non specific for tissue or species.

Which of the statements given above are
correct ?

(a}) 1,2 and 3

(b) 1 and 2 only
(c) 1 and 3 only
(d} 2 and 3 only
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The Wobble hypothesis of the genetic code Hemoglobin Ale
refers to the less stringent specificity of the . . .
(a) is a mutant hemoglobin that occurs in

(a) 5 end base of the codon .diabetic patients

(b) is absent in normal individuals

5" end base of the anticodon

(¢) involves the covalent modification of
3’-end base of the anticodon ‘hemoglobin A by glucosyl transferase

Middle base of the anticodon (d) is useful in monitoring glucose ievels in
' : blood

. ) . . Adenosine deaminase deficiency is associated
Which one of the following statements about with '

antibiotic inhibitor of pretein synthesis is _

correct ? ' (a) Purine overproduction-

) ] ) ) . (b) T and B-cell immunodeficiency

(a) Chloramphenicol inhibits the peptidyl
transferase  activity of the °large . (¢) Purine over-excretion

ribosomal subunit in eukaryotes. . (d) Hypouricemia

Cycloheximide inhibits the peptidyl

. transferase activity of the large{39. Match List I with List II and select the c/orrect
ribosomal subunit in eukaryotes. ‘ answer using the code given below the lists :

List 1 List II
(Disorders of (Site of Lesion)
Basal Gaenglia)

Puromycin blocks protein synthesis in
prokaryetes only.

Erythromycin inhibits translocation in A. Parkinsonism . Striatum

karyot ly. ‘
eukaryotes only Huntington’s . Substantia

Chorea : - nigra

. . Athetosis . Subthalamie
The deep nuclear cell is continually under . ' nucleus
hoth excitary and inhibitory influences. The

" Ballismus 4. Red nucleus
inhibitory influence arises entirely from

Lenticular

1
{a) Purkinje cells nucleus

Granule cells
Mossy fibre cells

Climbing fibre cells

© P-OTQ-J-NTD
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Acute pain impulses aré transmitted via 45. Consider the folioﬁing organisms :
(a) A-delta and C fibres

{b) A-bé¢ta and A-gamma fibres ‘
{¢) A-alpha fibres 2.  Nocardia asteroids

1. Actinomycetes

(d) B-fibres (Preganglionic autonomic) 3.  Madurella mycetomi

Which one of the following indicates the 4. Candida albicans
correct sequential order in phagocytosis ? ) : :
Which of the above are responsible for

{(a) Engulfment — Opscnization — mycetoma ?

Degranulation & Detoxification — :
Lysosomal fusion (a) 1, 2 and 3 only

(b) Degranulation & Detoxification — _
Opsonization — Engulfment — Lysosomal (b) 1 and 2 only

fusion . (¢) 2 and 3 only
(c) Lysosomal fusion — Opsonization —

Degranulation & Detoxification — (d) 1,2, 3and4’

Engulfment ' :

{d) Opsonization — Engulfment — Lysosomal . Consider the following viruses :
fusion — Degranulation & Detoxification
1. Epstein — Barr virus

Which of the following statements about nitric
oxide (NO) is correct ?

2
(a) NO is synthesized by hepatocytes. 3. _Hepatitis B virus
4

Hepatitis E virus

(b) The approximate half-life of- NO is
about 3 days.

Yellow fever virus

Which of the above are implicated in

(c) NO is a potent vasodilator. . 9
-carcinogenesis ?

(d) NO induces platelet aggregation.

: (a) .1, 2 and 3 only
The electrical stimulation of which one of the .

following areas produces a pattern of (b) 2 and.3 only
REM-sleep ? '

(a) Raphe system

(b) Suprachiasmatic nucleus of (d) 1,2 3 and4
hypothalamus

{c) 1 and 3 only

(c) Preoptic area of hypothalamus Which of the _followihg pairings of neoplasm

(d) Ascending reticular activating system with its cell of origin {or differentiation) is nof
correct ?

In healing by secondary intention, wound
contraction is largely through

(a} Granulation tissue proliferation (b) -Pancreatic. :  Beta cells of Islets
(b) Mvyofibrobl adenocarcinoma of Langerhans
yohibroblasts ‘

(c) Ground substance production

(a) Seminoma 1 Germ cell

(¢) Choriocarcinoma : Trophoblastic cells

(d) Carcinoid tumor :. Neuroendocrine

(d) IEndethelial proliferation cells

P-DTQ-J-NTD {12 —.A ) )
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Match List I with List IT and select the correct ‘

answer using the code given below the lists :

List I List IT
(Carcinogen) {Associated tumors)

A.  Chromium 1. Gastric cancer

B. Nitrosamine 2. Hepatocellular

carcinoma

C. Polyvinyl 3. Haemangiosarcoma
chloride of liver

D. | Aflatoxin 4. Bronchogenic

carcinoma

Code :

A B C D

(a) 2 4 3 1

(b) 4 1 3 2

(c} 2 4 1 3

(d)y 4 1 2 3

49. What is a sentinel lymph node in relation to
breast cancer surgery ?

(a) The first node in the regional lymphatic
basin to receive lymph from the primary
tumor

(b} The last node in the regional lymphatic
basin to receive lymph from the primary
tumor

{c) The largest lymph node in an axillary
lymphadenectomy specimen

(d) The largest clinically palpable lymph
node

50. A b53-year-old male died suddenly after
complaining of severe chest pain for 8 hours

(suspected acute myocardial infarction).

Which pathological finding is most likely to be

present at autopsy ?

(a) A  well-defined infaret on gross
cxamination

(b Granulation tissue formation on light
miCroscopy

(¢} Unstained myocardium on
triphenyltetrazolium chloride staining

(d) Elevated LDH in a post-mortem serum
sample

P-DTQ-J-NTD

51.

52,

53.

4.

55.

(14 - A)

A 19-year-old multi-transfused patient with
beta-thalassemia major is detected to have
predominantly conjugated hyperbilirubinemia
with elevated serum transaminase (AST and
ALT) 1levels. Which of the following
investigations is most likely to be helpful in
réaching a diagnosis ?

(a) Liver biopsy

(b) Haemoglobin HPLC and electrophoresis

(¢) Serum ferritin, serum
transferrin saturation

iron and %

(d) Serologic studies for hepatitis B and
hepatitis C viral infections

The following features may be seen in sarcoid
granuloma excepf ;

(a) Prominent B lymphocyte infiltration

(b) Langerhans’ é'iant cells

(c) Schaumann’s inclusion bodies

(d)

Asteroid inclusion bodies

Tuberculosis in the setting of HIV infection
with severe immunosuppression (CD4 counts
<200 cells/mm®) is more likely to be
associated with which one of the following
features ? ’

(a) E;-(tra-pulmonary disease

(b) Well-developed granulomatous response
{e) Low bacterial loads .

(d) Fibro-cavitatory disease in the lung
Which one of the following is a -typical
example of immune complex discase ?

(a) Erythroblastosis foetalis

(b}
(¢} Bronchial asthma
(d) Contact dermatitis

Glomerulonephritis

What is the classical pattern of staining seen
in Goodpasture syndrome (anti-GBM disease)
on fluorescent microscopy ?

(a) Negative for immuno-fluorescence
{b). Focal, sparse deposits

(c) Granular deposits

(d) Linear deposits
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56. Recurrent thrombosis in a young feﬁale with
history of repeated spontaneous abortions and
. thrombocytosis point to a diagnosis of
(a) Antiphospholipid éyndrome _
(b) Moschowitz disease — thrombotic
thrombocytopenic purpura
(c} Amnioatic fluid embolism
(d) Von-Willebrand’s disease
- 87. The presence of longitudinal oval ulcers in the
ileum overlying Peyer’s patches which
microscopically show erythrophagocytosis is
diagnostic of .
{a) Tuberculosis
(b) Typhoid
{c} Crohn's disease
(d)  Ulcerative colitis
58. In a tumor-iike inflammatory mass present in.
the eaecum, a thorough search should be done
for
(a) Giardia
{(b) Balantidium coli
(¢) Ascaris lumbricoides
(d} Entamoeba histolytice
59. A febrile, unconscious patient. died in the
emergency. On autopsy, microscopic sections
from the brain showed refractile brown-black
pigment, perivascular ring hemorrhages,
Purck granulomas and scanty lymphocytic
inflammation. The likely diagnosis was
{a) Meningococcal meningitis
(b) Falciﬁarum malaria
(¢) Neurosyphilis
{d) Rabies
P-DTQ-J-NTD { 16 —

60.

61,

62.

63.

A)

(d)

Mad cow disease is seen in cattle. What is a
similar type of disease found in man ? -

(a)

(b) Scrapie

Kuru

(¢) Creutzfeldt — Jakob disease

Alzheimer’s disease

A  50-year-old man with recent acute
pancreati't;is receiving his 3™ week of total
parenteral nutrition (TPN) might be expected
to develop which

one of the following

complications at this time ?

(a)

‘Osteomalacia

(b) Microcytic anemia

(¢) '~ Hyperosmolar coma

(d) TPN liver disease

What . is the
spontaneous subarachnoid hemorrhage ?

most common cause of

(a) Bleeding from arterio-venous
malformation
(b) Extension of intracerebral haemorrhage

(¢) Rupture of saccular aneurysm

(d) Idiopathic

Which of the following conditions may cause
non-traumatic rhabdomyolysis ?

{(a) Hyperkalaemia
(b} Hypophosphataemia
{¢) Hypermagnesemia

{d)

Hypercalcaemia
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64. A ten-year-old girll presents with headache,
fever and vomiting for the last 10 days. On
clinical examination, she is conscious bhut
slightly confused and found to Thave
lymphadenopathy along with neck rigidity.
Her CSF shows : proteins 150 mg %, sugar
40 mg %, ' cells-70 with 90% lymphocytes.
What is the most likely diagnosis ?

(a) Viral meningitis

(b) Pyogenic meningitis

(¢} Cryptococcal meningilis
(d) Tubercular meningitis

65. What is the best determinant of adequacy of
alveolar ventilation among the following ?
(a) Arterial pQ, level
(b} Arterial pCO, level
(c} Minute ventilation
(d) Presence of cyanosis

66, Which one of the following is usually not a
feature of Pre-Renal Acute Renal Failure ?

(a) Fractional excretion of sodium < 1%

(b) Urinary sodium > 40 m Eq/

(¢) Urinary osmolality >
500 mosmol/kg water

() Urinary creatinine/plasma creatinine
ratio > 40

67. Which of the following cardiac markers is
most  helpful in ~diagnosing myocardial
infarction one week after a chest pain ?

(a) CKMB

(¢} Myoglobin

(d) Cardiac-specific Troponin-T.
P-DTO-J-NTD.

68.

69.

70.

@

‘Match List I with List IT and select the correct

answer using the code given below the lists :

List I List IT
{(Pulse) (Condition)

A. Pulsus ‘ 1. Cardiac
bisferiens Tamponade

B.  Pulsus 2. Severe anemia
paradoxus

C. Collapsing 3. Combined Aortic
pulse Stenosis and Aortic

Repurgitation

D. Pulsus 4. Severe Aortic
parvus et Stenosis
tardus

Code :
A B C D

(a) 4 2 1 3

® 37 1 2 4

(c) 4~ 1 2 3
3 2 1 4

presénted with
and hepatomegaly.

A middle-aged woman
unexplained pruritis
Investigations reveal . serum alkaline-
phosphatase — 1600 U/l and aspartate
aminotransferase -~ 200 1U/l. What is the most
appropriate diagnostic possibility ?

{a) Alcoholic cirrhosis

(b) Cardiac cirrhosis
(c) Postviral cirrhosis

(d) Primary biliary cirrhosis

With reference to stress ulcers, which one of
the following statements is no# correct ?

(a) They are frequently multiple.

(b) They are.most commonly found in
duodenum.

(c) They are often observed in patients of
shock, burn or sepsis. :

(d) Painless gastroillteétinal hemorrhage is
a common clinical finding.

(18 — A ) |
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72,

I

What is the most common protozoal cause of
asymptomatic infection of the gut ?

(a)
(b)
{c) Entamoeba dispar

(d)

Entamoeba hiétolytica‘

Entamoeba coli

Isospora belli

A normotensive young man develops gross
hematuria 3 days after an attack of upper
respiratory tract infection. The most likely
renal pathology is
(a) Post Streptococcal Acute
Glomerulonephritis
(b) Minima! Change Glomerulonephritis
(¢} IgA nephropathy '
(d} Membranous Glomerulonephritis
73. Type 2 lepra reactions can be treated with
(a) Dapsone
{b} Rifampicin
(c). Thalidomide
(d) None of the above
74. Which one of the following statements is
correct regarding Rheumatoid Factor ?
(a} 100%  specific for diagnosis of
Rheumatoid Arthritis
(b} Positive in 5% of healthy population
(¢} Positive in all cases of SLE -
{(d) Never positive in Sjogren’s syndrome
75. Infliximab-is least likely to be useful in the
treatment of
(a) Ankylosing spondylitis
(b) Rhecumatoid arthritis
(c) Tophaceous gout
{(d) Crohn’s disease
P-DTQ-J-NTD

76,

1.

78,

79.

{20 - A)

(a)

Disseminated intravascular coagulation (DIC)
differs from thrombotic thrombocytopenic
purpura (TTP) by

{a)

Significant number’ of schistocytes seen
on the peripheral blood film

(b)
(e) Abnormal PT and PTTK
(d)

Thrombocytopenia

Intravascular thrombosis

Which one of the following vaccines is not
recommended for use in immuno- comprormsed

- patients ?

(a)
(b)

Influenza vaccine
BCG vaccine
(c) Hepatitl:s A vaccine

(d)

Quadrivalent meningococcal vaccine

Which one of the fdllowing is not a feature of
schizophrenia ?

Delusional percéptions

{b)

Auditory hallucinations

{c}) Somatic passivity and feelings

(d) Feelings of futility and guilt

Which set of Pulmonary Function Tests béest
differentiates Restrictive Lung disease from
Obstructive Lung disease ?

(a) | Compliance, { FRC,

normal FEV, / FVC ratio

(b} | Compliance, normal FRC,

| FEV, /FVC ratio

(c) Nofmal compliénce, ! FRC,
normal FEV, / FVC ratio

1 Compliance, 4 FRC, | FEV, /FVC

ratio
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80. Consider the following statements regarding

(a) 1,2 and 3
(b) 2, 3and4
‘(e) 1,2 and 4
(d) 1,3 and 4
81. Glassgow Coma Scale for a normal individual
is shown as
(a) E, MgV,
() Eg M, Vg
() E;MgV,
(d) E, M,V
82, | A patient has gastric cancer invading
muscularis propria and has three perigastric
regional lymph nodes. What is the TNM
staging ? -
(a) T, N; M,
(b) T, N, M,
() Ty N, M,
(d) T, N, M,
P-DTQ-J-NTD

mitral stenosis :

1. Opening snap occurs close to A, in
severe mitral stenosis.

when left
below left

2. Opening snap occurs
ventricular pressure falls
atrial pressure.

3. Loudness of first heart sound indicates
the severity of mitral stenosis.

4. In patients with symptoms on
unaccustomed activity, the mitral valve
area 1s usually in the range of 1-0 to
15 cm?,

Which of the statements given above ar
correct ?
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84.

85.

86.
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“Complete fracture of the neck of femur
without displacement” is of which grade
according to Garden Classification ?

(a) Grade 1
(b) Grade 2
(c)- Grade 3
(d) Grade 4

In a patient with gastric outlet obstruction,
would be the pre-operative fluid
management ?

(a)
{(b)
(¢) Hypertonic saline with pofassium

(d)

Normal saline
Hypertonic saline

3

Normal saline with potassium

]

Which one of the following is the surgical
procedure of choice for the treatment of
hydrocephalus ?

Shunt befween lateral

(a) ventricle and
cisterna magna

(b) Shunt between lateral ventricle and
peritoneal cavity

(c) Shunt between lateral ventricle and
right atrium

(d} Shunt between and

lateral wventricle

pleural cavity

Which one of the following statements is no#
correct regarding lumbar sympathetectomy for
Buerger’s disease ?

(a) It is performed through extra-peritoneal
approach.

(b) It causes cutaneous vasodilatation and
promotes ulcer healing.

(¢) The procedure involves bilateral
excision of 15 lumbar to 4 lumbar

7 sympathetic ganglions.

(d) It can be performed via an endoscope.
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87. A 50-year-old man with history of chronic
smoking presented with pain along the left
arm and a ptosis of left eye. His chest X-ray
shows a soft tissue opacity at left lung apex
with destruction of adjacent ribs. The picture
is suggestive of
(a) Adenocarcinoma lung
{b) Bronchial carcinoid
(c) Pancoast’s syndrome
(d) Broncho alveolar carcinoma

B88. The ncrve likely to be damaged during
gridiron incision for appendicitis is
(a) Subcostal nerve
(b) Ilichypogastric nerve
() 11** thoracic nerve
(d) Ilicinguinal nerve

89. The most commen site of Argentaffinoma is .
(a) Bronchus
(b) Tleum
(c) Appendix
(d) Rectum

90. The least malignant macroscopic variety of
carcinoma colon is )
{a) Annular
(b) Tubular
(e)  Ulcer
() Cauliflower
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In a urodynamic study the normal voiding
pressure is

(a) < 60 em of Wat.er
(b) 60—70 cm of water
(¢) 70-80 cm of water
(d) > 80 cm of water

Match List I with List II and select the correct
answer using the code given below the lists :

List I List IT
(Groups of (Location)
axillary nodes)
A.  Lateral 1. Along the
: sub-scapular
. vessels
B. Central * 2. Along the axillary
vein
C. Antefior 3. In fat in the centre
of axilla
D. Posterior 4. Along the lateral
thoracic vessels
Code :
A B C D
(a) 2 3 4 1
(b) 2 4 3 1
(¢) 1 4 3 2
(d) 1 3 4 2 -

A one-month-old female child has a swelling

over back in the sacral region. There is no

cough impulse in the swelling. X-ray
examinatibn shows erosion of the coccvx. The
most likely clinical diagnosis would be

{a) Meningomyelocele

{b} Neurofibroma

(¢} Sacro-coccygeal teratoma
(d) Lipoma

The most common type of intussusception in
children is’

{a) Ileo-ileal

(b)  Colo-colic

(¢} lleo-colic
Ileo-ileo-colic

(d)
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95¢

Acute urinary retention in a circumcised boy
is likely to be due to

(a)
(b)

Acute Urethritis

Urethral stricture

(¢} Hysteria
(d) Meatal ulcer with scabbing
96. Closed reduction in an unstable cervical spine
injury is achieved by
(a) Halo traction
(b) External fixation with an Hizarov frame
(c) Traction with Steinmann pin
(d) Immobilisation with pads, tapes and
hard collar
97. When does patent ductus arteriosus attain
functional closure ?
(a) After one week of birth
(b) After three weeks of birth
(c} After three months of birth
(d) Within a few hours of birth
98. The treatment of tension pneumothorax is
(a) Immediate decompression by a large
bore needle
(b) Mechanical ventilation.
(¢ Oxygen therapy
(d) Underwater seal chest drainage
99. A young man is admitted following a knife
wound in the chest. The following signs
suggest cardiac tamponade except :
(a) Distended neck veins
{(b) Hypotension
{¢} Pulsus paradoxus
(d) Exaggerated heart sounds
P-DTQ-J-NTD

100.

101.

102.

- (e)

{26 - A )

With reference to Transjugular Intrahepatic
Portosystemic Stent Shunt for the control of
variceal bleed, consider the following
statements :

1.  The procedure is done under local
anesthesia, “fluoroscopic guidance and
ultrasonography.

2. A Guide wire is placed through hepatic
~ vein into portal vein through liver
parenchyma.

3. A self-expanding metallic
placed.

stunt is

4. Access is through external jugular vein.

Which of the statements given above are
correct ? '

{a) 1,2and 3
(b} 1 and 2 only
{c) 2 and 3 only
(d) 1,3 and 4

A 3-year-old child with second degree protein
energy malnutrition and Vitamin A deficiency
developed acute diarrhoea and subsequently
died of severe dehydration. What should be
written as the underlying cause of death on
the death certificate, as per WHO schedule ?

(a)

Protein energy malnutrition -

(b) Vitamin A deficiency
() Severe dehydration
{(d) Acute diarrhoea

Which one of the following is characterised by
diarrhoea, dermatitis and dementia ?

(a)
(b)

Beri-Beri
Lathyrism
Pellagra

(d) Epidemic dropsy
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103.

LY

In a city with total population of 5 lakhs,
3000 cases of malaria fever were detected, out
of which 150 died. Total number of deaths in.
the city during the same peried including
malaria deaths were 3500, What is case
fatality rate for malaria ?

(a) 5%
(b 10%
(c) 06%
(d) 003% |
104. The éﬂicacy of a drug 18 best demonstrated by
a
(a) Cross-sectional survey
(b} Ecological study
(e) Case-control study
(d) Randomised controlled trial
105. The statement ‘90% of lung cancer patients
among smokers are due to their smoking
habits’ indicates
{a) Relative risk
{b) Odd’s ratio
(c) Attributable risk
(d) Population attributable risk
106. Which of the following is an index of
operational efficiency in malaria control
program in India ?
{a) Spleen rate
(b) Annual parasite incidence
{c}) Annual Blood Examination Rate
{d) Slide Positivity Rate
107. Which of the following deseribes the concept of
: ‘lead time’ in screening tests for diseases ?
(a) Period between onset of disease and
“usual time of diagnesis
" (b) Period between usual diagnosis time
and detection by screening
() Gap between usual outcome compared
to outcome after detection by screening
(d) Gap between onset of disease and
diagnosis by screening
P-DTQ-J-NTD
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(c)
Ad)

John Snow’s observation that cholera is a
water borne disease was an example of

(a)
(b)
(e)
(d)

Natural experiment
Randomized Controlied Trial
Cohort Study

Nested Case Control Study

Which one of the followiﬁg is not consistent
with the provisions of the Factories
(Amendment) Act, 1987 ? :

(a) The Act defines factory as an
establishment employing = 10 or more
workers where power is used and 20 or
more workers where power is not used

(b)

A minimum space of 500 cu ft for each
- worker is recommended

{(¢) Total number of hours of work in a
week shall not exceed 60, including

overtime

(d)

Seasonal factories are exempted from
the Act '

.For how inany days should a traveller coming

from Africa without a valid Yellow Fever
vaccination certificate be quarantined ?

(a) 2.
(b) 4
(c) 6
(d) 8
“Providing iodised 'salt to the population in

India” belongs to which of the following levels
of prevention ? ’

(a)
(b)

Primordial prevention
Primary prevention
Secondary prevention

Tertiary prevention

‘Iceberg Phenomenon’ of diseases is not seen
in

(a} Tetanus

(b)Y Tuberculosis
(¢} Diabetes

(d) Anemia
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113.

Arbo-viruses — Group B (Flaviviruses) are
known to cause the following diseases except :

(a)
«(b)
(c)
(d)

Dengue fever
Kyasanur Forest disease
Japanese encephalitis

Chikungunya fever

114. Under National Anti Malaria Programme,
Primaquin in a single dose of 45 mg (for
adults) is given as
(a) Presumptive treatment in low risk area
for malaria

(b) Presumptive treatment in high risk
area for malaria

{c) Radical treatment in low risk area for-
P. vivax malaria *

(d) Radical! treatment in high risk area for
malaria

115. What is the approximate daily exposure level
of loudness of noise in decibels which people
can tolerate without substantial damage to
their hearing ? .

(a) 85
(b) 95
{e) 105
(d) 115
116. Which of the fbllowing are correct in cases of
. tuberculosils associated with HIV infection ?
1. More chances of sputum smear being
negative.
2. Tuberculin skin test often becomes false
negative. .
3.  More cavitation in chest radiography:.
4. Extra pulmonary tuberculosis _being
more common. '
Select the correct answer using the code given
below :
(a) 1 and 2 only
(b) 2 and 4 only
{¢) 1,2 and 3
{(d 1,2and 4
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Child Placement means placing the child in
a 1

(a) éhild créche
(b)
(c)

()

Day-Care centre
Foster home

Anganwadi centre

The approximate magnitude of completed
family size in the population is indicated by

(a) N;at Reproduction Rate
(b) Gross Reproduction Rate
(c) Total Fertility Rate

(d) General Fertility Rate

By hydrogenation of vegetable oils

{a) Unsaturafed fatty acids are converted to
saturated fatty acids

(b) The essential fatty acid (EFA) of oils is
enhanced

(c) The shelf life of vegetable oils is
reduced

(d} The Vitamin A content of vegetable oils
is enhanced

Which of the following measures can

prevent ill-effects of high temperature ?

(a) Regulation of oxygen —carbon dioxide
balance

(b) Clothing to be light, loose and light

coloured
(¢} Restriction of sleeping hours in daytime
(d) Decreasing air movements in working

area
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Note : English version of the mstructlons is printed on the front cover of this Booklet.




